—Balancing Chemical Equations —

Balance the following chemical equations.

1) CaC,+__ HO~->CH, + Ca(OH),

2 Ca(lOH),+__ H.PO,>Ca,(PO),+__  HO
3) SrCO, + __ NH,Br > SrBr, + (NH,),CO,

H#CH,+ O, CO+____ HO

5) ¢cH,+_ O,»-_ CO,+_ HO

) Fe+_ = O,>_ Fel,

Write and balance the following chemical equations.

a) Hydrogen plus oxygen yields water.

b) Sodium plus water yields sodium hydroxide plus hydrogen.

) Hydrochloric acid plus iron (III) sulfide yields iron (III) chloride plus hydrogen
sulfide.

d) Aluminum sulfate plus calcium hydroxide yields aluminum hydroxide plus
calcium sulfate.

e) Zinc and lead (II) nitrate react to form zinc nitrate and lead.

f) Aluminum bromide and chlorine gas react to form aluminum chloride and
bromine gas.



—Balancing Chemical Equations —

Answers

1) CaC,+ _ 2 HO~ CH, + Ca(OH),

2 3 Ca(OH),+ 2 HPO,~Ca(PO),+ 6 HO

3) SrCO, + 2 NH,Br - SrBr, + (NH,),CO

3

HCH,+_ 11 _0O,>_7 CO,+_8 HO

_— 2 _— 2

55 2 CH,+_ 13 O,»_ 8 CO,+_ 10 HO

4" 710

6) 4 Fe+ 3 O,»> 2 FeO

_ 2

a) Hydrogen plus oxygen yields water.
2H,+0O,>2H0

b) Sodium plus water yields sodium hydroxide plus hydrogen.
2Na +2H,0O »~ 2Na(OH) + H,

) Hydrochloric acid plus iron (III) sulfide yields iron (III) chloride plus hydrogen
sulfide.

6 HCl + Fe,S, > 2 FeCl, + 3H,S

d) Aluminum sulfate plus calcium hydroxide yields aluminum hydroxide plus
calcium sulfate.

AL(SO,), + 3 Ca(OH), » 2 AI(OH), + 3 CaSO,

e) Zinc and lead (II) nitrate react to form zinc nitrate and lead.
Zn + Pb(NO,), > Zn(NO,), + Pb

f) Aluminum bromide and chlorine gas react to form aluminum chloride and
bromine gas.

2 AlBr, + 3 Cl, > 2 AICL, + 3 Br,
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